ﬂh Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

is8/10 of afoot tall?

day. Which amount is more time?

timeto fill up?

full of sodas?

the shorter distance?

Answers
;
Which is the shorter? A glass of water that is /,, of afoot tall or a glass of lemonade that
1
. L 3 A 2 .
Which has the lower capacity? 7 of amilliliter or /; of aliter? ”
1 . . . . . 2 .
Debby spent /6 of amonth working on her science fair project while John spent /6 of a 3
4,
2
A lawn mower gastank is 5/6 full. An airplane gastank is /6 full. Which will take shorter
5.
5 4
Which will be louder? When astereo is /5 full volume or when it is /¢ full volume? 6.
. : 2 . 7 . 7.
Which is heavier? A /8 pound red bowling ball or a /8 pound blue bowling ball?
8.
. 12 11
Which has the greater capacity? /. 16 Of acup or /. 16 Of agallon?
9.
. 3 1
Which is the smaller amount? 7, of adollar or 7}, of adollar? 10.
o 2 1 _ 11.
Which is lighter? 7 of agram or / of akilogram?
12.
7 2
Which is heavier? A shopping cart that is /10 full of sodas or a shopping cart that is /10
13.
4 - : 2 . . .
Jogger A ran /7 of amilein 10 minutes. Jogger B ran /7 of amilein 10 minutes. Which is || 14.
. . 15 9 15.
Which is heavier? "/, of apound or 7} of aton?
2
Which islonger? 1/3 of aminute or /5 of an minute?
1 4
Which has more water? A swimming pool that is / full or aglassthat is /g full?
. 1 .2
Which has less people? A school bus that is /5 full or acar that is 7 full?
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ﬂh Comparing Fraction Relative Size Name: Answer Key

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)
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Which is the shorter? A glass of water that is 7/10 of afoot tall or aglass of lemonade that
is 8/10 of afoot tall?

Which has the lower capacity? 3/5 of amilliliter or 2/5 of aliter?
Debby spent 1/6 of amonth working on her science fair project while John spent 2/6 of a
day. Which amount is more time?

A lawn mower gastank is 5/6 full. An airplane gastank is 2/6 full. Which will take shorter
timeto fill up?
Which will be louder? When a stereo is 7 fuil volume or when it is 7 full volume?
Which is heavier? A 2/8 pound red bowling ball or a7/8 pound blue bowling ball?
. 12 11
Which has the greater capacity? /. 16 Of acup or /. 16 Of agallon?
I 3 1
Which is the smaller amount? 7, of adollar or 7}, of adollar?
Which islighter? 2/5 of agram or 1/5 of akilogram?
Which is heavier? A shopping cart that is 7/10 full of sodas or a shopping cart that is 2/10

full of sodas?

4 - . 2 . . _
Jogger A ran /7 of amilein 10 minutes. Jogger B ran /7 of amilein 10 minutes. Which is
the shorter distance?
. . 15 9
Which is heavier? "/, of apound or 7} of aton?
1 2
Which islonger? /; of aminute or /5 of an minute?

1 4
Which has more water? A swimming pool that is / full or aglassthat is /g full?

Which has | ess people? A school busthat is l/5 full or acar that is 2/5 full?

10.

11.

12.

13.

14.

15.

Answers
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